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GCSE Exam Questions: Grouped Frequency Table

1) Adil carried out a survey to find the number of

emails sent by 20 of his friends yesterday.

Here are the results:

4 22 27 32 11
35 40 13 39 18
28 5 12 42 25
17 25 45 38 8

Complete the grouped frequency table:

s N
Number of emails Tally Frequency
0-9
10- 19
20-29
30-39
40 - 49
. s
(2 marks)
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GCSE Exam Questions: Grouped Frequency Table

2) (a) Charlie asked 20 people how long in minutes they spent doing their English homework.

Here are their results.

58 19 30 25 37
27 25 35 45 37
48 42 30 49 28
35 14 20 32 37

Complete the grouped frequency table:

rTime,t minutes Tally Frequency ]
0<t<15
15 <t <30
30 <t <45

X 45 <t <60 )

(2)
(b) What percentage of people spent half an hour or less on English homework?
%
(2)
(4 marks)
thirdspacelearning.com Helping schools close the maths attainment gap through targeted one to one teaching and flexible resources

2



GCSE Statistics | GCSE Exam Questions | Grouped Frequency Table 6 T'C'ERA%SE\I'%CE

GCSE Exam Questions: Grouped Frequency Table

3) (a) Roshan is surveying the heights of 20 tomato plants.

She measures them to the nearest centimetre.

Here are the results in metres

1.26 1.42 1.75 1.03 1.28
1.15 1.28 1.09 1.80 1.59
1.92 1.44 1.38 1.55 1.62
1.64 1.79 1.91 1.73 1.52

Complete the grouped frequency table:

~

p
Height, h (m) Tally Frequency

1.00 < h <1.25

1.25 < h < 1.50

1.50 < h < 1.75

1.75 < h < 2.00

(2)
(b) What percentage of tomato plants are more than 125 cm tall?
%
(2)
(4 marks)
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GCSE Exam Questions: Grouped Frequency Table Answers

Question Answer Marks
1) Adil carried out a survey to find the number p 5
of emails sent by 20 of his friends yesterday. Bumperf amsls dothy et uilio
Here are the results: 0-9 1] 3
4 22 27 32 11 -1 | M °
20-29 5
35 40 13 39 18 Ll
30-39 Ml 4
28 5 12 42 25
40 - 49 1l 3
17 25 45 38 8 ) ~
For at least one correct tally or frequency | (1)
Complete the grouped frequency table: For all frequencies correct a
rNumber of emails Tally Frequency )
0-9
10-19
20-29
30-39
40 - 49
2) (a) | Charlie asked 20 people how long in minutes | (a) (= - )
they spent doing their English homework. iy F ORUISS Tally Frequency
0<t<25 | 1
Here are their results. 15<t<30 | JH I 8
58 19 30 25 37 30<t<45 | M Il 8
27 25 35 45 37 45 < t < 60 Il 3
48 42 30 49 28 - ’
3 14 20 32 ¥ For at least one correct tally or frequency | (1)
Complete the grouped frequency table: For all frequencies correct @
rTime,t minutes Tally Frequency )
0<t<15
15 <t <30
30 < t <45
45 < t < 60

(b) | What percentage of people spent halfan hour |(b) 1 + 8 < 100 1)
or less on English homework? 20
= 45%
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GCSE Exam Questions: Grouped Frequency Table Answers

Question Answer Marks
3) (a) [ Roshan is surveying the heights of 20 tomato | (a) ( Height, B (m) Tally Frequency )
plants.
1.00 < k<125 ||| 3

She measures them to the nearest centimetre.

125 <h<150| JH | 6
Here are the results in metres 150 <h <175 JM || 7
4

126 142 175 103 128 (175 <h <200 |l

L1 1.28 1.09 1.80 1.59 For at least one correct tally or frequency | (1)
1.92 1.44 1.38 1.55 1.62 For all frequencies correct 1)

1.64 1.79 1.91 1.73 1.52

v

Complete the grouped frequency table:

~

-
Height, h (m) Tally Frequency

1.00 < h <1.25

1.25 < h < 1.50

1.50 < h <1.75

1.75 < h < 2.00

(b) | What percentage of tomato plants are more (b) 6 +7+4

x 100 1

than 125c¢m tall? 20 M
=85% €))
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Where to go next?

For more diagnostic questions, and GCSE maths revision resources and
worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning GCSE maths revision pages.

Scan the QR code to discover our library of FREE GCSE maths revision
resources

Do you have KS4
students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.

Visit thirdspacelearning.com to find out more.
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